
(2) 800S200-54

UNPUNCHED STUD

HEADER W/600T150-43

(TOP & BOT.)

(1)#10-16 SCREW,

TYP. EACH FLANGE

(2) 600S162-54 (NESTED AND

SCREW FASTENED) JAMB STUDS.

FASTEN WEB TO TRIMMER STUD

ASSEMBLY TRACK w/(2)#10-16

SCREW @ 12"O.C.

2"x2"x16 GA. CLIP ANGLES, 1/2" LESS

THAN STUD WIDTH. USE: (3)#10-16

SCREWS ON EACH LEG.

HEADER ATTACHMENT- SEE

DETAIL

SILL TRACK- 600T200-43

FASTEN TOP & BOTTOM

TRACK USING: (2)#10-16

SCREWS @ 16" O.C.

2"x2"x16 GA. CLIP ANGLES, 1/2"

LESS THAN STUD WIDTH. USE:

(3)#10-16 SCREWS ON EACH LEG.

EXISTING 6" METAL STUD

- FIELD VERIFY

2"x2"x16 GA. CLIP ANGLES, 1/2"

LESS THAN STUD WIDTH.

(3)#10-16 SCREWS INTO STUD,

(2) 3/16 HILTI KWIK-CON II

ANCHORS W/ 1 3/4" EMBED. INTO

CONCRETE

(2) 600S162-54 FULL HEIGHT TRIMMER

STUDS. FASTEN WEBS W/(2) #10

SCREWS @ 12" O.C.

600T200-43 FULL HEIGHT TO 12" ABOVE

TOP OF HEADER - FASTEN TO

TRIMMER STUD W/ #10 SCREWS EACH

FLANGE @ 12" O.C.

8" LONG SECTION OF

600T125-68

RUNNER TRACK

SCREW FASTENED TO

TRIMMER STUD TRACK

w/(6)#10-16 SCREWS &

TO HEADER w/(3)#10-16

SCREWS EACH

FLANGE.

NEAREST EXISTING FULL HEIGHT

METAL STUD

HEADER ATTACHMENT

EXISTING OUTER SLIDE TRACK

ATTACH NEW FULL HEIGHT STUDS

TO INNER TRACK OF EXISTING

SLIDE TRACK w/ (1) 16 GA. AL600

TSN STIFFCLIP. FASTEN CLIP w/ (3)

1/2" LONG #12 SCREWS INTO

TRACK AND (4) #12 SCREWS INTO

STUD

EXISTING INNER SLIDE TRACK

SCALE:

8

A501

LIGHT GAUGE HEADER DETAIL

   3/4" = 1'-0"

SERVICE DOOR -
SEE DOOR
SCHEDULE AND
SCOPE OF WORK

ADA COMPLIANT
ALUMINUM
THRESHOLD -
SET IN FULL BED
OF MASTIC

1
/
2

"
 
M

A
X

.

B
E

V
E

L
E

D

FUTURE FINISH FLOOR
OVER CONCRETE SLAB

PRE-MOLDED
EXPANSION JOINT

MIN. (3) ANCHORS
PER JAMB TYP.

ANODIZED ALUM. WINDOW
FRAME WITH WEEP HOLES

SILL RECEPTOR W/
FASTENER

1/4" SEALANT
SETTING BED

EXPANSION FILLER

SIDEWALK SEE CIVIL

HEADER -
SEE
STRUCTURAL

EXT. GRADE PLYWOOD
SHEATHING

ANODIZED ALUMINUM WINDOW
FRAME - SEE WINDOW SCHEDULE.
ALIGN FRAME AS SHOWN

R.O.

3 /8" SHIM
AS REQD.

3/8" BACKER ROD &
SILICONE SEALANT FULL
PERIMETER EA. SIDE LAG BOLTS

& WASHERS

STOREFRONT
BACK PLATE TO
SUPPORT SHIM

3/4"

NOTE: DO NOT SEAL WINDOW
WEEP HOLES CLOSED TYP.

SCALE:

9

A501

TYP. WINDOW HEAD

   3" = 1'-0"

SCALE:

6

A501

NOT USED

   3" = 1'-0"

SCALE:

5

A501

STOREFRONT SILL DETAIL

   3" = 1'-0"

SCALE:

11

A501

WINDOW HEAD @ DRIVE THRU

   3" = 1'-0"

CAST STONE BASE

INTERIOR
SLAB (UNDER
SEPARATE
CONTRACT)

SELF ADHERED
MEMBRANE FLASHING

WEEPS AT 24" O.C.

SCALE:

4

A501

THRESHOLD @ H.M. DOOR

   3" = 1'-0"

WOOD
BLOCKING

CONT. SEALANT &
BACKER ROD @ HEAD
AND JAMBS TYP.

WOOD SHIM

HEADER - SEE
8/A501

P.T. SILL PLATE AND
ANCHOR BOLT

SILL SEALER TYP.

SCALE:

7

A501

E.I.F.S. JAMB @ H.M. DOOR

   3" = 1'-0"

SCALE:

3

A501

HEAD @ H.M. DOOR

   3" = 1'-0"

SCALE:

2

A501

STONE WAINSCOT BASE

   3" = 1'-0"

FLUID APPLIED AIR AND
MOISTURE BARRIER

CAST STONE BASE

SELF ADHERED
MEMBRANE FLASHING

WEEPS AT 24" O.C.

E.I.F.S. OVER LIQUID APPLIED
MOISTURE BARRIER. LAP BARRIER
OVER FLASHING TAPE. CHAMFER
E.I.F.S. AT SCREED

1 1/2" E.I.F.S. W/ WEEP SCREED

NOTE: PAINT E.I.F.S.
BOTTOM DRAINAGE TRACK
WITH ENAMEL PAINT

24 GA FLASHING,
3/4" x 1 1/2" BEHIND
EIFS BOTTOM TRACK

CONT. SEALANT LINE
BETWEEN FLASHING

1 1/2"

9
"

EXISTING SHEATHING

FLUID APPLIED AIR AND
MOISTURE BARRIER

ANODIZED ALUMINUM WINDOW
FRAME - SEE WINDOW
SCHEDULE.  ALIGN FRAME 3/4"
OFF FACE OF SHEATHING

BOX BEAM
HEADER - SEE
STRUCTURAL

3/ 8" SHIM AS REQD.,
BACKER ROD &
SEALANT FULL
PERIMETER & LAG
BOLTS WITH
WASHERS AS REQD.
PER MFR.

CONT. BACKER ROD
AND SEALANT

CONT. SEALANT &
BACKER ROD EA. SIDE @
HEAD AND JAMBS TYP.

FLUID APPLIED MOISTURE
BARRIER. LAP BARRIER OVER
FLASHING TAPE.

WRAP SELF ADHERED
MEMBRANE FLASHING
OVER BARRIER AND
FOUNDATION

P.T. SILL PLATE AND
ANCHOR BOLT

SILL SEALER TYP.

SCALE:

1

A501

STONE BASE @ SIDING

   3" = 1'-0"

FLUID APPLIED AIR AND
MOISTURE BARRIER

CAST STONE BASE

SELF ADHERED
MEMBRANE FLASHING

WEEPS AT 24" O.C.

CONT. SEALANT LINE
BELOW FLASHING

9
"

24 GA FLASHING, BEHIND CEMENT
BD. TAPE AND LAP BARRIER OVER
FLASHING TAPE

PRE-FINISHED ALUM.
BASE TRIM. MATCH
SIDING FINISH

JOINT TO REMAIN OPEN

FLUID APPLIED AIR AND
MOISTURE BARRIER TO BE
CONTINUOUS BEHIND
FURRING AND BLOCKING

METAL FLASHING

EXT. GRADE PLYWOOD
SHEATHING

FLUID APPLIED AIR AND
MOISTURE BARRIER

FIBER CEMENT FINISH/
COMPOSITE PANEL

BOX BEAM LINTEL

METAL STUD FRAMING

CANOPY

SIMPSON A34
FRAMING ANCHOR
(TOTAL OF 4)

BOLTS (AS PER MFR.
RECOMENDATIONS)

(2) - 2x10 STUDS
EACH SIDE OF
BLOCKING W/
2- 12d NAILS INTO
EACH OF THE 2x10
BLOCKING MEMBERSPIPE/SLEEVE AS

REQUIRED

FULL PERIMETER
SEALANT

EXT. GRADE PLYWOOD
SHEATHING

METAL STUD FRAMING

WOOD BLOCKING

METAL FLASHING

EXT. GRADE PLYWOOD
SHEATHING

FLUID APPLIED AIR AND
MOISTURE BARRIER

WOOD BLOCKING AS
REQUIRED

CANOPY

WOOD BLOCKING AS
REQUIRED

1/4" GAP W/ SEALANT

METAL FLASHING W/
WEEP HOLES @ 24" O.C.

L5x3 1/2X1/4 (LLH)
STEEL LINTEL
(GALVANIZED)

1 7/8"

4
"

H.M. DOOR
ASSEMBLY
GROUT SOLID

2
 
5

/
8

"

EXISTING BRICK VENEER

UNDER CUT THIS BRICK.

2"

CONT. SEALANT &
BACKER ROD @ HEAD
AND JAMBS TYP.

EXISTING SHEATHING

FLUID APPLIED AIR AND
MOISTURE BARRIER

EXISTING BRICK VENEER

METAL STUD FRAMING

H.M. DOOR
ASSEMBLY
GROUT SOLID

WOOD SHIM

SCALE:

10

A501

TYP. TIE ROD DETAIL

   3" = 1'-0"

SCALE:

13

A501

EIFS DETAIL

   3" = 1'-0"SCALE:

12

A501

EIFS DETAIL

   3" = 1'-0"

FLUID APPLIED AIR AND
MOISTURE BARRIER

1 1/2" E.I.F.S.

1/2" EXTERIOR SHEATHING

SAW CUT AND
REMOVE EXISTING
BRICK VENEER AS
REQUIRED FOR NEW
CONSTRUCTION

REMOVE EXISTING BRICK VENEER AS
REQUIRED FOR NEW CONSTRUCTION.
SALVAGE EXISTING BRICK AS REQUIRED
TO  CREATE NEW BRICK RETURN. TOOTH
IN TO MATCH EXISTING

FLUID APPLIED AIR AND
MOISTURE BARRIER

1 1/2" E.I.F.S.

EXISTING EXTERIOR
SHEATHING

BACKER ROD AND SEALANT

1/4"

BACKER ROD
AND SEALANT

3
"

1
/
4
"

2'-0"

EXISTING CONSTRUCTION (SHADED)

EXISTING
CONSTRUCTION
(SHADED)

FIBER CEMENT FINISH/
COMPOSITE PANEL SOFFITFIBER CEMENT FINISH/

COMPOSITE PANEL

FIBER CEMENT FINISH/
COMPOSITE PANEL

1
/
2

"
 
M

A
X

.

B
E

V
E

L
E

D

ANODIZED ALUMINUM
DOOR - SEE DOOR
SCHEDULE

ADA COMPLIANT
ALUMINUM
THRESHOLD - SET IN
FULL BED OF MASTIC

FIN. FLOOR OVER
CONCRETE SLAB

PRE-MOLDED
EXPANSION JOINT

1
0

"
 
T

Y
P

.

SCALE:

14

A501

STOREFRONT DOOR SILL

   3" = 1'-0"

1 1/2" METAL
FURRING

1" METAL
FURRING

CO
N

ST
R.

 D
O

C.
 &

 R
EV

IS
IO

N
S

N
o.

De
sc

rip
tio

n
Da

te

12
 S

un
ne

n 
Dr

iv
e,

 S
ui

te
 1

00
, S

t. 
Lo

ui
s,

 M
O

 6
31

43
T:

 3
14

.8
21

.1
10

0

St
ar

bu
ck

s 
&

 M
ed

ic
al

 O
ffi

ce

15
5 

S.
W

. M
O

-1
50

 H
W

Y
LE

E'
S 

SU
M

M
IT

, M
O

 6
48

02

Permit Date

Project Number
Drawn By/Checked By:

320488

06-17-20

O
w

ne
r R

ev
ie

w
05

/1
2/

20

BULLOCK, KEYMA L.
 License NO. 2004011669
Expiration Date 12/31/20

PROFESSIONAL OF RECORD

CASCO DIVERSIFIED CORPORATION
ARCHITECTURAL

 CERTIFICATE OF AUTHORITY
#000329 12/31/21

A501

EXTERIOR
DETAILS

RMT/ALS

-
-

-
-

-
-

-
-

-
-

-
-

-
-

-
-

-
-

-
-

-
-

-
-

-
-

-


	Sheets and Views
	488_A501 Exterior Details-A501


